Standards-based Assessment Bank
5th Grade Non-Fiction


Index to Questions
	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	8
	OAT  Mar 05
	IT-F
	IT 5.4
	Amber:  The Forty-Million-Year-Old Trap
	Science
	This multiple-choice question asks students to summarize the main idea of the selection.

	9
	OAT  Mar 05
	A
	AV 5.1
	Amber:  The Forty-Million-Year-Old Trap
	Science
	This multiple-choice question asks students to use context clues and text structures to determine the meaning of thrived.

	10
	OAT  Mar 05
	IT-F
	IT 5.4
	Amber:  The Forty-Million-Year-Old Trap
	Science
	This extended-response question asks students to summarize how people used amber.

	11
	OAT  Mar 05
	B
	IT 5.2
	Amber:  The Forty-Million-Year-Old Trap
	Science
	This multiple-choice question asks students to determine what caused amber to form.

	12
	OAT  Mar 05
	C
	RP 5.7
	Amber:  The Forty-Million-Year-Old Trap
	Science
	This multiple-choice question asks students to respond to a literal question, how the insects got captured in amber.

	13
	OAT  Mar 05
	C
	RP 5.7
	Amber:  The Forty-Million-Year-Old Trap
	Science
	This multiple-choice question asks students to make meaning of the text by responding to a literal question.

	14
	OAT  Mar 05
	C
	RP 5.7
	Amber:  The Forty-Million-Year-Old Trap
	Science
	This short-answer question asks students to make meaning of the text by responding to a literal question that asks them to identify and defend the type of amber that is most valuable to scientists.

	15
	OAT  Mar 05
	A
	AV 5.1
	Amber:  The Forty-Million-Year-Old Trap
	Science
	This multiple-choice question asks students to determine the meaning for altered by using context clues found in the text.

	16
	OAT  Mar 05
	C
	RP 5.7
	Amber:  The Forty-Million-Year-Old Trap
	Science
	This multiple-choice question asks students to identify why scientists study insects trapped in amber, a cause and effect relationship presented in the selection.

	37
	OAT  Mar 05
	B
	RP 5.4
	Ancient Fuels, Modern Problems
	Science
	This multiple-choice question asks students to use information in the text to demonstrate comprehension of the author’s description of global warming.

	38
	OAT  Mar 05
	C
	RP 5.7
	Ancient Fuels, Modern Problems
	Science
	This short-answer question asks students to demonstrate comprehension of the text by providing an advantage and a disadvantage of using fossil fuels.



	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	39
	OAT  Mar 05
	A
	AV 5.2
	Ancient Fuels, Modern Problems
	Science
	This multiple-choice question asks students to use context clues to determine a synonym for the word conserve.

	40
	OAT  Mar 05
	B
	IT 5.2
	Ancient Fuels, Modern Problems
	Science
	This multiple-choice question asks students to determine the effect of putting devices in power plants and vehicles to reduce carbon dioxide.

	41
	OAT  Mar 05
	F
	IT 5.4
	Ancient Fuels, Modern Problems
	Science
	This short-answer question asks students to summarize two reasons people oppose limiting the use of fossil fuel.

	42
	OAT  Mar 05
	C
	RP 5.7
	Ancient Fuels, Modern Problems
	Science
	This multiple-choice question asks students to determine why solar energy and wind energy are suggested as substitutions for fossil fuels.

	43
	OAT  Mar 05
	B
	IT 5.7
	Ancient Fuels, Modern Problems
	Science
	This multiple-choice question asks students to analyze the statements to determine which one is an opinion.

	15
	OAT Mar 06
	B
	IT 5.2
	Sneakers!
	Science
	This multiple-choice question asks students to demonstrate understanding of a cause and effect relationship within the passage, specifically what caused Charles Goodyear to discover rubber.

	16
	OAT Mar 06
	C
	RP 5.7
	Sneakers!
	Science
	This multiple-choice question asks students to show reading comprehension skills by answering a question that derives its answer directly from the text.

	17
	OAT Mar 06
	F
	AV 5.8
	Sneakers!
	Science
	This multiple-choice question asks students to use the dictionary as a resource to identify the correct meaning of the word craze.

	18
	OAT Mar 06
	F
	IT 5.4
	Sneakers!
	Science
	This extended-response question asks students to demonstrate reading comprehension of informational text by summarizing the text using the main idea and four critical details from the selection.

	19
	OAT Mar 06
	F
	IT 5.4
	Sneakers!
	Science
	This multiple-choice question asks students to determine which of the critical details support the main idea.

	20
	OAT Mar 06
	C
	RP 5.7
	Sneakers!
	Science
	This multiple-choice question asks students to demonstrate the ability to make inferences or draw conclusions based upon information found within the text.


	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	21
	OAT Mar 06
	C
	RP 5.7
	Sneakers!
	Science
	This short-answer question asks students to show reading comprehension skills by answering a question that derives its answer directly from the text.

	22
	OAT Mar 06
	A
	AV 5.1
	Sneakers!
	Science
	This multiple-choice question asks students to use other words (context clues) in the sentence to help determine the meaning of the word traction.

	23
	OAT Mar 06
	B
	IT 5.2
	Sneakers!
	Science
	This multiple-choice question asks students to demonstrate reading comprehension by identifying a cause and effect relationship.

	8
	OAT  May 07
	C
	RP 5.7
	Lions
	Science
	This multiple-choice question asks students to answer a literal question about the Big Cats family.

	9
	OAT  May 07
	AV-A
	AV 5.1
	Lions
	Science
	This multiple-choice question asks students to determine the meaning of the word marvel as it is used in this sentence.

	10
	OAT  May 07
	B
	RP 5.4
	Lions
	Science
	This short-answer question asks students to compare lions to other members of the Big Cats family and determine what differences there are and how that difference helps them.

	11
	OAT  May 07
	A
	AV 5.2
	Lions
	Science
	This multiple-choice question asks student to select a synonym for typical from a given list of words.

	12
	OAT  May 07
	A
	AV 5.2
	Lions
	Science
	This multiple-choice question asks students to select the set of words that are homophones using the context of the paragraph about prides of lions.

	13
	OAT  May 07
	F
	IT 5.4
	Lions
	Science
	This extended-response question asks students to list four details from the selection that support the main idea that lions are good hunters.

	14
	OAT  May 07
	F
	IT 5.4
	Lions
	Science
	This multiple-choice question asks students to select the detail which best supports the main idea of lions working together in a pride.

	15
	OAT  May 07
	A
	IT 5.1
	Lions
	Science
	This multiple-choice question asks students to use their knowledge of what they have read to select the book title from a given list in which this selection appears.

	1
	OAT  May 08
	C
	RP 5.7
	Pass The Chocolate
	Science
	This multiple-choice question asks students to select the best definition from a dictionary.

	2
	OAT  May 08
	C
	RP 5.7
	Pass The Chocolate
	Science
	This multiple-choice question asks students to respond to a literal question, how the ancient Maya used chocolate.

	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	3
	OAT  May 08
	B
	RP 5.4
	Pass The Chocolate
	Science
	This extended-response question asks students to use information in the text to make predictions (educated guesses) about the ideas in the selection.

	4
	OAT  May 08
	A
	AV 5.2
	Pass The Chocolate
	Science
	This multiple-choice question asks student to select a synonym for evolved from a given list of words.

	5
	OAT  May 08
	A
	IT 5.1
	Pass The Chocolate
	Science
	This multiple-choice question asks student to use text features to locate information about a cacao pod.

	6
	OAT  May 08
	F, AV-A
	AV 5.2,                AV 5.8
	Pass The Chocolate
	Science
	This multiple-choice question asks students to use the context clues of nearby words and sentences in a selection and connect that information with what they find in a dictionary.


BACK TO INDEX
Passage:

Amber:  The-Forty-Million-Year-Old Trap

By Marjorie Jackson


Forty million years ago, when the earth was much wetter and warmer, huge forests with many kinds of trees thrived in the far north.  Out of some of these trees, stretching as tall as ten-story buildings, oozed a sticky resin.  Mosquitoes buzzed through the forests, grasshoppers and crickets leaped, and ants and spiders scurried by the trees in search of food.  If they carelessly let a leg or wing touch the resin−zap!− they were stuck.


Millions of years passed, and the climate of the earth altered dramatically.  The northlands turned cold and icy.  The giant trees fell, buried under the salt water that now covered the land.  Far beneath the water, the globs of resin slowly changed, hardening into solid, glowing pieces of amber.


Still millions of years later, storms at sea broke the amber free and tossed it onto beaches for early cave dwellers to find.  The cave dwellers wondered if the strange golden stone, warm to the touch, could be solid sunlight.  Using flint and bone tools, they carved pieces of amber into the shapes of animals or the sun and wore them on cords around their necks for protection.


For hundreds of years, people used amber in jewelry or to decorate warriors’ weapons; some soldiers braided amber beads in their horses’ manes to ensure success in battle.  Amber was also ground fine and mixed with honey, oil of roses, and crabs’ eyes or claws for use as medicine.  Amber mixtures were believed to cure earaches, headaches, and any number of diseases.  Even wearing buttons or beads carved from amber was thought to keep a person well.


In the early 1700s, King Frederick I of Prussia had an entire room built from 100,000 pieces of amber of many colors − yellow, orange, red, brown, and even blue and green−all fitted together like a giant jigsaw puzzle.  When the sun shone through the windows, nobles said, they felt as if they were standing inside a jewel box.  The room was used and admired for more than 200 years, but in the 1940s, during World War II, it was taken apart and loaded into boxes for storage in a safer place.  The boxes were somehow lost, and where the amber room is today remains a mystery.


Some of the oldest pieces of amber are mined in Appalachia, in the eastern United States.  The Baltic seacoast also has large deposits.  But the Dominican Republic, in the Caribbean, yields the most pieces with insects, leaves, feathers, and other remains of life.


Some pieces of amber have air bubbles inside that keep the light from passing through, making it look cloudy, but many others are clear like glass.  The pieces of amber with inclusions of early life or gas bubbles are the most valuable to scientists.  
They hold clues about the earth’s ecology millions of years ago and enable scientists to 
compare early life forms with today’s.  More than a thousand kinds of insects have been found preserved in amber, from prehistoric flies that proved to be the ancestors of our houseflies to a 140-million-year-old weevil that lived at the time of the dinosaurs.  Whole flights of insects were sometimes trapped in one glob of resin; one two-inch piece of amber has 2,000 ants in it!  Although most of the preserved insects are not extinct, their descendants may still survive, sometimes in new places.  A termite found in Mexican amber now lives only in Australia.


Many natural history museums have pieces of amber on display.  Look for them during your next visit.  These golden traps, 40 or more millions of years old, are the closest thing we have to snapshots of our ancient past.
BACK TO INDEX
	Benchmark:     IT-F
	Determine the extent to which a summary accurately reflects the main idea, critical details and underlying meaning of original text.

	GLI:                          IT 5.4              
	Summarize the main ideas and supporting details.


Multiple-Choice Question:
	   8.
	Which statement summarizes the main idea of the selection?


	A.
	Amber can be made into beautiful jewelry for people to admire.

	B.
	Many things can be learned about our ancient past by studying amber.

	C.
	The earth has changed in many ways over millions of years.

	D.
	It is important to keep pieces of amber in museums.


Commentary:

This multiple-choice question asks students to summarize the main idea of the selection. A main idea of a non-fiction selection states the topic of the selection and a summary of the information that is presented about the topic. The topic of this selection is amber, so response C is eliminated because its topic is the earth. The fact that “Amber can be made into beautiful jewelry” is true, but it is too specific to be a main idea for this selection. Other aspects of amber are discussed, so response A is incorrect. The only mention of museums occurs in the last paragraph, which is too specific to be considered a main idea, so response D is incorrect. Response B states the topic of the selection (amber) and a summary of the information presented in the selection (“Many things can be learned about our ancient past by studying amber.”), so B is the correct response.

Performance Data:

The percent of public school students selecting answer choice B for question 8 on the March 2005 Grade 5 Reading Achievement Test was 64%.
Keywords:  main idea, summary
BACK TO INDEX
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                   AV 5.1            
	Define the meaning of unknown words by using context clues and the author’s use of definition, restatement and example.


Multiple-Choice Question:

	 9.
	“Forty million years ago, when the earth was much wetter and warmer, huge forests with many kinds of trees thrived in the far north.”

What does the word thrived mean in the sentence?



	A.
	became shorter

	B.
	died quickly

	C.
	grew well

	D.
	burned down


Commentary:

This multiple-choice question asks students to use context clues and text structures to determine the meaning of thrived. Students should carefully read the sentence in which thrived appears to discern clues to its meaning. What would happen to “huge forests with many kinds of trees when the earth was much wetter and warmer”? Moisture and warmth encourage growth in plant life, so C is the correct response. The trees would not become shorter, die quickly or burn down with warm, wet conditions, so responses A, B and D are incorrect.

Performance Data:

The percent of public school students selecting answer choice C for question 9 on the March 2005 Grade 5 Reading Achievement Test was 73%.
Keywords:  vocabulary, context clues

BACK TO INDEX
	Benchmark:     IT-F
	Determine the extent to which a summary accurately reflects the main idea, critical details and underlying meaning of original text.

	GLI:                  IT 5.4               
	Summarize the main ideas and supporting details.


Extended-Response Question:

	10.    Use the selection to summarize how people used amber. Write your    answer in the Answer Document.

	


Commentary:

This extended-response question asks students to summarize how people used amber. Students may need to skim the selection to find uses for amber.

Performance Data:

The percent of public school students earning each score point for question 10 on the March 2005 Grade 5 Reading Achievement Test:

	Percent at Each Score Point

	0
	1
	2
	3
	4

	7%
	13%
	20%
	26%
	32%


Scoring Guidelines:

	Student Response

	Response contains FOUR correct answers pertaining to USE of amber from list below.

Example: 

· Jewelry

· Cave dwellers wore amber for protection.

· People used amber to decorate weapons/battle.

· Made into animal shapes

· Decorated room with amber.

· Used as beads in horses’ manes.

· Mixed with honey/oil of roses/crabs’ eyes or claws for medicine

· To learn about past/ecology/gas bubbles/insects

· Used in museums

	Response contains THREE correct answers from list above.

	Response contains TWO correct answers from list above.

	Response contains ONE correct answer from list above.

	Response is incorrect.


Keywords:  summarize, main idea

BACK TO INDEX
	Benchmark:     B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI:                    IT 5.2                
	Identify, distinguish between and explain examples of cause and effect in informational text.


Multiple-Choice Question:

	  11.
	What caused amber to form?


	A.
	Resin was mixed together with honey and oil.

	B.
	The climate of the earth became warmer.

	C.
	Giant trees were buried under saltwater.

	D.
	Air bubbles hardened into clear glass.


Commentary:

This multiple-choice question asks students to determine what caused amber to form. This is a cause and effect item: the formation of amber is the effect; how and why the amber was formed is the cause that students are to identity. Students may need to skim the selection for the correct response. The process that caused the creation of amber is described in paragraphs 1 and 2 of the selection. Millions of years ago trees oozed resin, which, when the climate drastically altered from wet and warm to cold and icy, trees fell and were buried under salt water. “… the globs of resin slowly changed, hardening into solid, glowing pieces of amber,” making response C correct. Response A is incorrect because according to paragraph 4, “Resin was mixed … with honey and oil” to describe how resin was used as medicine; no mention of amber was made in this informative statement. Resin, a sticky substance formed by trees, was produced because of a very wet, warm climate that existed forty million years ago. A cause-effect relationship exists between warm climate and resin, but not between amber and another substance or condition. Thus, B is incorrect. “Some pieces of amber have air bubbles inside that keep the light from passing through, making it look cloudy, but many others are clear like glass.” This statement describes a condition or characteristic of amber, a cause-effect relationship that describes why some pieces of amber are cloudy or have clear glass bubbles in them, not what caused amber to form. Response D is also incorrect. 

.

Performance Data:
The percent of public school students selecting answer choice C for question 11 on the March 2005 Grade 5 Reading Achievement Test was 39%.
Keywords:  cause and effect

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                     RP 5.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

	  12.
	How did insects get captured in amber?


	A.
	The insects touched the resin.

	B.
	The insects searched for food.

	C.
	The insects were buried under water.

	D.
	The insects oozed a sticky resin.


Commentary:

This multiple-choice question asks students to respond to a literal question, how the insects got captured in amber. The first paragraph names mosquitoes, grasshoppers, crickets, ants and spiders that, “If they carelessly let a leg or wing touch the resin—zap!—they were stuck.” “Getting stuck” and “being captured” are synonymous phrases; thus, response A is the correct answer. Merely searching for food did not entrap the insects because they searched many places for food. Only when the insects carelessly encountered resin were they stuck, so B is incorrect. Response C is incorrect because being buried under water was a result, an effect, of the insects being captured in resin, not how they became captured. Finally, D is incorrect because the insects did not ooze resin; “trees, stretching as tall as ten-story buildings, oozed resin.”

Performance Data:

The percent of public school students selecting answer choice A for question 12 on the March 2005 Grade 5 Reading Achievement Test was 70%.
Keywords:  literal questions, comprehension
BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                     RP 5.7               
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple-Choice Question:

	  13.
	What did early cave dwellers think amber might be?




	A.
	buried trees

	B.
	preserved insects

	C.
	solid sunlight

	D.
	sticky resin


Commentary:

This multiple-choice question asks students to make meaning of the text by responding to a literal question. Students may need to skim the selection for the correct response, which is found in paragraph three. “The cave dwellers wondered if the strange golden stone … could be solid sunlight,” so response C is correct. Responses A, B and D are incorrect because the process of creating amber included sticky resin, buried trees and preserved insects.

The insects stuck to the resin produced by the trees. The trees then fell and were buried under salt water when the climate drastically changed from hot and wet to cold and icy, preserving the insects in the resin. The three elements were part of the creation of amber, not what the cave dwellers thought amber might be.

Performance Data:

The percent of public school students selecting answer choice C for question 13 on the March 2005 Grade 5 Reading Achievement Test was 78%.
Keywords:  literal question, comprehension
BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                     RP 5.7               
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Short-Answer Question:

	14.    What type of amber is most valuable to scientists? Why?

         Write your answer in the Answer Document.


Commentary:

This short-answer question asks students to make meaning of the text by responding to a literal question that asks them to identify and defend the type of amber that is most valuable to scientists. Students may need to skim the selection to find the answer, which is located in paragraph 16: “The pieces of amber with inclusions of early life or gas bubbles are the most valuable to scientists.” An explanation of the value of this type of amber is also found in paragraph 16.

Performance Data:

The percent of public school students earning each score point for question 14 on the March 2005 Grade 5 Reading Achievement Test was

	Percent at Each Score Point

	0
	1
	2

	25%
	21%
	53%


Scoring Guidelines:

	Points
	Student Response

	2
	Response contains two correct answers.

Example:

· Amber with gas bubbles or inclusions of early life

· They hold clues about the earth from a long time ago.

· So the scientists can study and compare life forms from that period to today.


	1
	Response is partially correct.

Example:

(one answer from the list above)

	0
	Response is incorrect.


Keywords:  literal question, comprehension
BACK TO INDEX
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                     AV 5.1             
	Define the meaning of unknown words by using context clues and the author’s use of definition, restatement and example.


Multiple-Choice Question:

	   15.
	“Millions of years passed, and the climate of the earth altered dramatically. The northlands turned cold and icy.”

What does altered mean in the sentence?



	A.
	jumped

	B.
	raised

	C.
	stopped

	D.
	changed


Commentary:

This multiple-choice question asks students to determine the meaning for altered by using context clues found in the text. Students may need to reread the first and second paragraphs of the selection to respond correctly. In paragraph 1, the climate of the earth forty million years ago is described as “much wetter and warmer ....” In paragraph 2, with the passage of millions of years, “… the climate of the earth altered dramatically … [and] turned cold and icy.” A contrast or altering occurred, a change from warm and wet to cold and icy, so response D is correct. The climate did not jump, raise or stop. Therefore, responses A, B and C are incorrect.  

Performance Data:

The percent of public school students selecting answer choice D for question 15 on the March 2005 Grade 5 Reading Achievement Test was 88%.
Keywords:  vocabulary, context clues

BACK TO INDEX
	Benchmark:     C
	Apply knowledge of connotation and denotation to learn the meanings of words.

	GLI:                     RP 5.7               
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple-Choice Question:

	   16.
	Why do scientists study insects trapped in amber?
A. to find out if the insects are alive

B. to find out where amber is hidden

C. to learn about the earth’s past

D. to learn how amber cures illnesses

	
	


Commentary:

This multiple-choice question asks students to identify why scientists study insects trapped in amber, a cause and effect relationship presented in the selection. Students may need to skim the selection for the correct response. Because the process of creating amber took place millions of years ago, response A is incorrect. The insects could not be alive. Response B is also incorrect. Scientists would not be able to find out where amber is hidden by studying the insects trapped in the amber because “... storms at sea broke the amber free...,” distributing the pieces around the world. For example, “A termite found in Mexican amber now lives only in Australia.” Paragraph 16 reveals, “The pieces of amber with inclusions of early life … are the most valuable to scientists. They hold clues about the earth’s ecology millions of years ago ….” Response C supports why scientists study the insects trapped in amber. Before 1700, people believed that amber mixtures cured “... earaches, headaches, and any number of diseases.” Because there is no recorded proof of such claims, scientists would not be able to support the fact that amber did cure illnesses, so response D is incorrect.

Performance Data:

The percent of public school students selecting answer choice C for question 16 on the March 2005 Grade 5 Reading Achievement Test was 75%.
Keywords:  main idea, cause and effect

BACK TO INDEX
Passage:

Ancient Fuels, Modern Problems

by Rebecca L. Johnson


Fossil fuels power our modern way of life.  Coal-burning power plants produce much of the world’s electricity.  Cars and trucks burn gasoline and diesel fuel, which are made from oil.  Natural gas heats many homes and offices, and electricity runs air conditioners that cool them.


Although fossil fuels can be very useful, burning fossil fuels adds billions of tons of carbon dioxide to the air each year.  To slow down global warming, some people say we need to quickly reduce our use of these fuels.  Other people think that reducing our use of fossil fuels would be a mistake.


Worldwide, some countries burn a lot more fossil fuel than others do.  The high-demand energy users release large amounts of carbon dioxide into the world’s atmosphere.  The United States, for example, pumps out roughly one-fourth of the world’s carbon dioxide emissions.

To Burn or Not to Burn


Most people agree that burning fossil fuels affects global warming and that global warming will affect Earth’s climate.  But what do we do about it?   People have very different opinions.  Some people think that the world should take a big step toward slowing global warming.  How?  By reducing the amount of carbon dioxide released into the atmosphere.  They suggest several ways to do this.


One way is to conserve energy.  If we burn less fossil fuel, we’ll produce less carbon dioxide.  A second way is to put special devices into power-plant smokestacks and car and truck exhaust systems.  These devices capture more carbon dioxide before it is released into the air.  A third way is to focus on developing renewable energy sources, such as solar energy and wind energy, that could replace fossil fuels and wouldn’t add carbon dioxide to the air. 


When should we take these actions?  “Right now!” say people who want to reduce fossil fuel use.  Even though questions remain about the effects of global warming, they say it’s better to act quickly before things get out of control.


Not everyone agrees, however.  Those who oppose limiting our fossil fuel use argue that fossil fuels are plentiful and relatively cheap.  Reducing the use of fossil fuels would cause unnecessary hardships.  They say that fitting power plants and vehicles with carbon dioxide-trapping devices will drive up the cost of electricity and transportation.  It also will cost hundreds of billions of dollars to develop renewable energy sources that can truly replace fossil fuels.  Who will pay for all these changes?


Some people who are against reducing fossil fuels also point out that global warming has been slow to happen.  Why be hasty in making big, expensive changes?  Scientists still can’t say without a doubt what will happen as the world warms.  Shouldn’t we wait to take action until scientists know for sure, they ask?


Dramatic changes due to global warming may or may not be part of our future.  While there’s evidence that global warming is affecting our world, there are still many questions about how extreme those effects could be.  Many questions also remain about what we should do about global warming.  Should we reduce the amount of carbon dioxide in the air as quickly as possible?  Or will cutting back on fossil fuel use be too costly?  Scientists continue to search for answers to these questions.  In the meantime, the debate surrounding global warming keeps heating up!

BACK TO INDEX
	Benchmark:     B
	Apply effective reading comprehension strategies, including summarizing and making predictions and comparisons, using information in text, between text and across subject areas.

	GLI:                  RP 5.4              
	Summarize the information in texts, recognizing that there may be several important ideas rather than just one main idea and identifying details that support each.


Multiple-Choice Question:

	  37.
	How does the author describe global warming?

	A.
	a way to reduce fossil fuels

	B.
	a way to trap carbon dioxide

	C.
	a problem with different possible solutions

	D.
	a problem with a single possible solution


Commentary:

This multiple-choice question asks students to use information in the text to demonstrate comprehension of the author’s description of global warming. Response A is incorrect because global warming is affected by burning fossil fuels; it is not a method used to reduce fossil fuels. Response B is also incorrect because trapping carbon dioxide is a suggested method to reduce global warming, not a description of it. Opposing viewpoints about global warming are offered in the selection: “Many questions also remain about what we should do about global warming.” This is not a simple problem that has one single solution, so response D is incorrect. Because scientists “... continue to search for answers to these questions...,” global warming is a problem with different possible solutions, as stated in response C.

Performance Data:

The percent of public school students selecting answer choice C for question 37 on the March 2005 Grade 5 Reading Achievement Test was 46%.
Keywords:  comprehension, information in text
BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                     RP 5.7               
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Short-Answer Question:

	38.
	In the Answer Document, complete the chart with an advantage and a disadvantage of using fossil fuels.


Commentary:

This short-answer question asks students to demonstrate comprehension of the text by providing an advantage and a disadvantage of using fossil fuels. Students may need to skim the selection to respond to this literal question.

Performance Data:

The percent of public school students earning each score point for question 38 on the March 2005 Grade 5 Reading Achievement Test:

	Percent at Each Score Point

	0
	1
	2

	31%
	23%
	42%


Scoring Guidelines:

	Points
	Student Response

	2
	Response contains TWO correct answers, ONE correct advantage and ONE correct disadvantage. The disadvantage may not be a negation of the advantage, or vice versa.
Example:

Advantages:

· Useful (warms/cools/transportation/

     electricity)

· Plentiful  

· Cheap

· Already being used.

Disadvantages:

· Adds carbon dioxide to atmosphere

· Contributes to global warming 

· They are not renewable sources of energy.

	1
	Response contains ONE correct answer, either a correct advantage OR a correct disadvantage. 

(see examples above)

	0
	Response is incorrect.


Keywords:  comprehension, literal question
BACK TO INDEX
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:            AV 5.2             
	Use context clues to determine the meaning of synonyms, antonyms, homophones, homonyms and homographs.


Multiple-Choice Question:

	  39.
	“One way is to conserve energy. If we burn less fossil fuel, we’ll produce less carbon dioxide.”


What is a synonym for conserve?



	A.
	save

	B.
	ignore

	C.
	waste

	D.
	increase


Commentary:

This multiple-choice question asks students to use context clues to determine a synonym for the word conserve. Students may need to reread the paragraphs preceding the sentence in which conserve appears. Paragraph 2 establishes that “... fossil fuels add billions of tons of carbon dioxide to the air each year.” Paragraph 4 indicates that burning fossil fuels affects global warming. Once students recognize the connection between global warming and the burning of fossil fuels, the following conclusion is logical: if we save energy, we will burn less fossil fuel and produce less carbon dioxide. Thus, response A is correct. Ignoring, wasting or increasing energy will not produce less carbon dioxide, so responses B, C and D are incorrect.

Performance Data:

The percent of public school students selecting answer choice A for question 39 on the March 2005 Grade 5 Reading Achievement Test was 79%.
Keywords:  vocabulary, context clues, synonym
BACK TO INDEX
	Benchmark:     B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI:                     IT 5.2               
	Identify, distinguish between and explain examples of cause and effect in informational text.


Multiple-Choice Question:

	  40.
	According to the selection, what might happen if we put devices in power plants and vehicles to reduce carbon dioxide?

	A.
	Transportation costs will rise.

	B.
	People will use wind energy.

	C.
	Global warming will increase.

	D.
	People will burn less fossil fuel.


Commentary:

This multiple-choice question asks students to determine the effect of putting devices in power plants and vehicles to reduce carbon dioxide. Students may need to skim the selection to respond. According to the text, installing these devices reduces carbon dioxide, which decreases the rate of global warming, so response C is incorrect. Using wind energy is another suggested way to conserve energy, not a result of installing the devices, so response B is incorrect. Response D is also incorrect because burning less fossil fuel is the ultimate goal for those who want to reduce global warming; it is not an effect of installing the devices. Installing the devices “... will drive up the cost of electricity and transportation,” so response A is correct.

Performance Data:

The percent of public school students selecting answer choice A for question 40 on the March 2005 Grade 5 Reading Achievement Test was 35%.
Keywords:   cause and effect, analyze text
BACK TO INDEX
	Benchmark:     F
	Determine the extent to which a summary accurately reflects the main idea, critical details and underlying meaning of original text.

	GLI:                      IT 5.4            
	Summarize the main ideas and supporting details.


Short-Answer Question:

	41.  Use the selection to provide two reasons some people oppose limiting our use of fossil fuel. Write your answer in the Answer Document.


Commentary:

This short-answer question asks students to summarize two reasons people oppose limiting the use of fossil fuel. Students may need to skim the selection to respond. The sub-heading, “To Burn or Not to Burn,” directs students to the part of the passage where opposing viewpoints for limiting the use of fossil fuels are presented.

Performance Data:

The percent of public school students earning each score point for question 41 on the March 2005 Grade 5 Reading Achievement Test was
	Percent at Each Score Point

	0
	1
	2

	62%
	13%
	22%


Scoring Guidelines:

	Points
	Student Response

	2
	Response contains TWO correct answers.

Example:

· Fossil fuels are plentiful.

· Fossil fuels are cheap.

· It is too expensive to find renewable energy sources.

· Global warming has been slow to happen. We/scientists don’t know what will happen if the world warms/ we don’t know what is the best thing to do 

· Making power plants and vehicles safer for the environment will increase the cost of electricity and transportation.

· Unnecessary hardships

· We don’t know who will pay for the cost of the new technology

	1
	Response contains one correct answer.

Example:

Fossil fuels are plentiful.

	0
	Response is incorrect.


Keywords:  summarize, supporting details
BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                     RP 5.7               
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple-Choice Question:

	  42.
	Why are solar energy and wind energy suggested as substitutions for fossil fuels?



	A.
	They are low-cost sources of carbon dioxide.

	B.
	They will increase the use of fossil fuel and heat homes.

	C.
	They are renewable and do not produce carbon dioxide.

	D.
	They are favored by both sides of the global-warming issue.


Commentary:

This multiple-choice question asks students to determine why solar energy and wind energy are suggested as substitutions for fossil fuels. Students may need to skim the text under the sub-heading “To Burn or Not to Burn” to respond to this literal question. People who want to limit the use of fossil fuels offer solar energy and wind energy (renewable energy sources) as substitutions for fossil fuels. This statement contradicts response D, which states that both sides favor their use. Thus, response D is incorrect. Solar and wind energy are offered as solutions to the problem of global warming because they will decrease, not increase, the use of fossil fuel, so response B is incorrect. The fact that solar and wind energy are renewable means they do not create carbon dioxide; consequently, response C is correct. Opponents of limiting fossil fuel maintain it will “... cost hundreds of billions of dollars to develop renewable energy sources...,” so response A, which identifies them as “low-cost sources” is incorrect.

Performance Data:  

The percent of public school students selecting answer choice C for question 42 on the March 2005 Grade 5 Reading Achievement Test was 58%.
Keywords:  comprehension, literal questions
BACK TO INDEX
	Benchmark:     B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI:                             IT 5.7             
	Analyze the difference between fact and opinion.


Multiple-Choice Question:

	 43.
	Which statement is an opinion?



	A.
	The world should take a big step toward slowing global warming.

	B.
	The gasoline and diesel fuel burned by cars and trucks is made from oil.

	C.
	Coal-burning power plants produce a great deal of electricity.

	D.
	If we burn less fossil fuel, less carbon dioxide will be produced.


Commentary:

This multiple-choice question asks students to analyze the statements to determine which one is an opinion. Students need to recognize the difference between fact and opinion to respond correctly. A fact is a reality, an actuality, a truth; whereas, an opinion is a belief, a viewpoint or a judgment. Response B is clearly a fact because gasoline and diesel fuel are made from oil, a verifiable statement. In addition, it is true that less carbon dioxide is produced if we burn less fossil fuel, so response D is also a fact. Response C contains an arguable component, “…a great deal…” This “great deal” may be interpreted as varied amounts, but it is true that “coal-burning power plants produce electricity,” so response C is a fact. Response A states the “world should take a big step toward slowing global warming.” This is an opinion because it expresses a belief or viewpoint that a specific action should take place in a big, meaning expansive, way. 

Performance Data:

The percent of public school students selecting answer choice A for question 43 on the March 2005 Grade 5 Reading Achievement Test was 65%.
Keywords:  opinion, fact, analyze text
BACK TO INDEX
Passage:
Sneakers! 

The All-Stars of Footwear 
by Patrick Joseph 

Look down at your feet. What are you wearing on them? Odds are the answer is sneakers. Sneakers are everywhere. But how much do you know about this popular footwear? How were sneakers invented? What are they made of? And why are they called “sneakers” anyway?

Rooted in Rubber

The story of sneakers started about 500 years ago. That’s when European explorers in Central and South America noticed Native Americans playing with an unusual ball. The ball was made from a milky, white liquid that oozed out of the cahuchu (ka OO choo) tree. The liquid, known today as latex (LAY tex), hardened as it dried. 

Native Americans had practical uses for latex too. They spread the sticky liquid on their feet. Once it dried, it formed a very thin “shoe” that protected their feet from water. They also made waterproof bottles with latex.

When explorers brought latex samples back to Europe in the early 1700s, scientists started searching for their own ways to use it. In 1770, an English chemist named Joseph Priestley discovered that the gummy stuff could rub out pencil marks. People dubbed it “rubber,” and the name stuck.

The Right Stuff

By the early 1800s, manufacturers in the United States and Europe had found many uses for rubber. They used the stretchy, waterproof stuff for raincoats, hoses, elastic bands, and more. But rubber wasn’t very good for making most things. It got too brittle in the cold and too sticky in the heat.

That changed in 1839. An inventor named Charles Goodyear mixed rubber and a smelly yellow chemical called sulfur. Then he accidentally spilled the mixture onto a hot stove. The resulting glop stayed firm and stretchy whatever the temperature. It was called vulcanized (VUL canized) rubber, named after Vulcan, the Roman god of fire.

Sneaking Around

A few years later, manufacturers teamed vulcanized rubber soles, or shoe bottoms, with a tough fabric called canvas. The result was comfortable, lightweight shoes. Up until then, almost everyone wore leather shoes with hard soles that clomped loudly with each step. The new rubber-soled shoes were very quiet. You could easily sneak around in them, so people started calling them “sneakers.” 

At first, sneakers weren’t very popular. For one thing, they were expensive. And people were more excited about using vulcanized rubber to make tires for bicycles—and, later, cars. But in 1916, a rubber company introduced a simple sneaker called Keds. Its price was low, so many people could afford a pair. Keds were a huge success.
A year later, another company called Converse created the first basketball sneaker. The All Star model featured rubber soles that kept players from slipping on the court. They also had canvas tops that went up around the ankle for good support. Sneakers were off and running.

Stepping Up Design

It wasn’t until the fitness craze of the 1970s that many people started taking sneakers seriously, though. 

Track coach Bill Bowerman was one of these people. He realized that if he could create lighter sneakers, his runners would save energy. In fact, shaving just one ounce off the shoes would help. The runner’s legs would lift 200 fewer pounds over the course of a mile. That could help his athletes win races.

One day in 1971, inspired by his breakfast, Bowerman poured liquid rubber into his wife’s waffle iron, and let it harden. The experiment ruined the waffle iron. But it resulted in the first “waffle soles.” These were lighter than flat soles because of all the notches in the waffle pattern. Plus they gave better traction, or grip. A new model for sneaker soles hit the pavement.

Modern Wonders

Today, sneakers are big business. In 2000, people in the United States spent more than $15 billion on them. That means they purchased more than 405 million pairs. Modern sneaker designs jump far beyond the first canvas-and-rubber model. 

Whether you wear sneakers to play sports or for fashion flair, the choices today are endless. So the next time you get a new pair of sneakers, take a good look at how they’re made. Think about what goes into them and all the history behind them. Then slip them on and take off!

BACK TO INDEX
	Benchmark:     B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI:                IT 5.2            
	Identify, distinguish between and explain examples of cause and effect in informational text.


Multiple Choice Question:

15. Charles Goodyear accidentally discovered rubber.  Which statement shows the cause of that accident?
A. He added some raised notches and a waffle pattern.
B. He poured hot rubber onto a waffle iron to harden.
C. He let white liquid latex cool and harden as it dried.
D. He dropped rubber mixed with sulfur on a hot stove.
Commentary:
This multiple-choice question asks students to demonstrate understanding of a cause and effect relationship within the passage, specifically what caused Charles Goodyear to discover rubber. The passage states that Charles Goodyear accidentally spilled a mixture of rubber and sulfur onto a hot stove which resulted in his discovering a firm and stretchy substance that eventually became rubber. Choice A is incorrect because it was Bill Bowerman who gave sneakers the raised notches and waffle pattern. In addition it does not address the idea of discovery. Choice B is incorrect for the same reasons. It was Bill Bowerman who poured the hot rubber onto a waffle iron to harden. Choice C is incorrect because it was a Native American who allowed the white liquid latex to harden as it dried. Choice D is correct because it accurately reflects the description of the accident which caused Charles Goodyear to discover rubber as stated in the passage.

Performance Data:
The percent of public school students selecting answer choice D for question 15 on the March 2006 Grade 5 Reading Achievement was 77%.

Keywords:  cause and effect, informational text
BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                     RP 5.7               
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:
16. How did rubber get its name?
A. People were excited about using it to make bicycle tires.
B. European explorers found Native Americans playing ball.
C. An inventor mixed hot latex with a chemical called sulfur.
D. An English scientist discovered that it erased pencil marks.
Commentary:
This multiple -choice question asks students to show reading comprehension skills by by answering a question that derives its answer directly from the text. Paragraph 4 of the passage states ‘an English chemist name Joseph Priestley discovered that the gummy stuff could rub out pencil marks. People dubbed it “rubber,” and the name stuck.’ Choice A is incorrect, even thought the statement is true, because it does not address the way in which rubber derived its name. Choice B is incorrect for the same reason. While it is a true statement, it does not address the way in which rubber derived its name. Choice C is incorrect, even though it is also a true statement; it does not address the way in which rubber derived its name. Choice D is 
correct. This information is clearly stated in paragraph 4 of the passage as quoted above. This question requires that students read the question carefully so that they are not distracted by the other responses which are correct statements but do not address the question.
Performance Data:
The percent of public school students selecting answer choice D for question 16 on the March 2006 Grade 5 Reading Achievement was 64%.

Keywords:  literal meaning, comprehension, text comprehension, questioning
BACK TO INDEX
	Benchmark:     F
	Use multiple resources to enhance comprehension of vocabulary.

	GLI:                 AV 5.8              
	Determine the meanings and pronunciations of unknown words by using dictionaries, thesauruses, glossaries, technology and textual features, such as definitional footnotes or sidebars.


Multiple Choice Question:
17. “It wasn't until the fitness craze of the 1970s that many people started taking sneakers seriously, though.”

Which definition of craze is used in the sentence?

[image: image1.emf]kraz kraz



craze /       /  1) v. to annoy someone. 2) n. a popular fashion or thing to do. 3) n. a very thin crack. 4) v. to cover in small thin cracks.

A. definition 1

B. definition 2

C. definition 3

D. definition 4

Commentary:

This multiple-choice question asks students to use the dictionary as a resource to identify the correct meaning of the word “craze”. Students are given four definitions and are asked to indicate which definition best matches the use of the word “craze” in the sentence. In so doing, students demonstrate their ability to use a resource to enhance comprehension of vocabulary. Choice A is incorrect because the definition is a verb; the original sentence calls for a noun. In addition, the idea of annoying or bothering someone does not fit the meaning of the sentence. Choice B is correct because it addresses the idea of a popular fashion or thing to do, which fits the meaning of the sentence. Wearing tennis shoes became a popular fashion in the 1970s according to the passage. Choice C is incorrect because the idea of a thin crack does not apply
to the sentence which makes reference to a way of perceiving sneakers. Choice D is incorrect because the definition is a verb and the sentence requires a noun as a definition. The meaning is also incorrect; wearing sneakers in the 1970s has nothing in common with small thin cracks.

Performance Data:
The percent of public school students selecting answer choice B for question 17 on the March 2006 Grade 5 Reading Achievement was 88%.

Keywords:  vocabulary, dictionary, definition

BACK TO INDEX
	Benchmark:     F
	Determine the extent to which a summary accurately reflects the main idea, critical details and und underlying meaning of original text.

	GLI:               IT 5.4                
	Summarize the main ideas and supporting details.


Extended Response Question:
18. In the Answer Document, write a summary of the selection. Begin with the main idea. Use the subheadings as a guide.

	

	

	

	

	

	


Commentary:
This extended-response question asks students to demonstrate reading comprehension of informational text by summarizing the text using the main idea and four critical details from the selection. Students are asked to use subheadings to help them find critical ideas which support the main idea. From the section entitled “Rooted in Rubber,” the information should center around the Native American use of latex/rubber on their feet and/or the discovery of the substance by the European explorers when they arrived in Central and South America. From the section entitled “The Right Stuff,” the information should focus on the idea of the manufacturers of the early 1800s finding many uses for rubber and/or the inventor Charles Goodyear’s accident which led to the creation of the vulcanized form of rubber. From the section entitled “Sneaking Around,” the information in the summary should center on the teaming of the vulcanized rubber with canvas which led to the invention of sneakers. The sneakers were quiet, hence the name “sneakers” which became Keds/Converse basketball shoes. From the section entitled “Stepping Up Design,” the information should focus on the continued evolution of the sneaker when Bill Bowerman created waffle soles which made the shoes lighter and have better traction/grip. From the section entitled “Modern Wonders,” the information should center around the wide variety of sneakers available today and the fact that sneaker production represents a
large money making business. The passage is comprised of many facts of which the student must be able to prioritize according to main ideas and critical details.
Scoring Guidelines:
	Points
	Student Response

	4
	Response contains FOUR correct points, each point being from a separate subheading.

Examples:

Rooted in Rubber

· 500 years ago, Native Americans put latex/rubber on their feet. 

The Right Stuff

· The invention of vulcanized rubber soles made sneakers possible 

Sneaking Around
· Rubber soles are quiet, leads to name “sneakers”

· Rubber soles plus canvas, Keds/Converse (basketball)

· Basketball sneakers created by joining canvas and rubber soles

Stepping up Design: 

· Waffle soles make sneakers lighter and create better traction/grip

· Fitness craze leads to development of better sneakers

Modern Wonders

· Sneakers are now used in a variety of ways

· Fashion and/or sports and/or money making business

	3
	Response contains THREE correct answers, each from a separate subheading.

Example:

(three answers from the list above)

	2
	Response contains TWO correct answers, each from a separate subheading.

Example:

(two answers from the list above)

	1
	Response contains ONE correct answer.

Example: 

(one answer from the list above)

	0
	Response in incorrect.


Performance Data:
The percent of public school students earning each score point for question 18 on the March 2006 Grade 5 Reading Achievement:

	Performance at each Score Point

	4
	3
	2
	1
	0

	5%
	10%
	20%
	36%
	27%


Keywords:  summary, main idea, informational text
BACK TO INDEX
	Benchmark:     F
	Determine the extent to which a summary accurately reflects the main idea, critical details and und underlying meaning of original text.

	GLI:               IT 5.4                
	Summarize the main ideas and supporting details.


Multiple Choice Question:
19. Vulcanized rubber is different from rubber used in Europe in the 1700s.


Which statement supports this idea?

A. Vulcanized rubber makes clothing waterproof.
B. Vulcanized rubber can rub out pencil marks.
C. Vulcanized rubber gets sticky in hot weather.
D. Vulcanized rubber stays stretchy in cold weather.
Commentary:
This multiple-choice question asks students to determine which of the critical details support the main idea. Choice A is incorrect because rubber used in the 1700s was the same substance that was used to make clothing waterproof, so a difference did not exist. Choice B is incorrect because rubber was used to rub out pencil marks in both time periods. Choice C is incorrect because rubber got sticky in hot weather in both time periods. Choice D is correct because it was not until rubber became vulcanized that it was able to stay stretchy in cold weather.
Performance Data:
The percent of public school students selecting answer choice D for question 19 on the March 2006 Grade 5 Reading Achievement was 40%.

Keywords:  main idea, summary, support
BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                     RP 5.7               
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

20. Why did Bill Bowerman want to change the sneaker?
A. He wanted to be a part of the fitness craze.
B. He wanted to make a shoe for basketball
C. He wanted to help his track team run faster.
D. He wanted to make a quieter running shoe.
Commentary:
This multiple-choice question asks students to demonstrate the ability to make inferences or draw conclusions based upon information found within the text. The passage states, “He (Bowerman) realized that if he could create lighter sneakers, his runners would save energy. In fact, shaving just one ounce off the shoes would help. The runner’s legs would lift 200 fewer pounds in the course of a mile. That could help his athletes win races.” In order to win races, the runners would have to run faster. Choice A is incorrect because no information in the passage indicates that Bill Bowerman wanted to be a part of the fitness craze. Choice B is incorrect because the basketball shoe had already been invented. Bill Bowerman wanted to make the shoe better. Choice C is correct because it accurately reflects the idea that Bill Bowerman was trying to help his athletes win races. Choice D is incorrect because there is no information in the passage to support the idea that Bill Bowerman was interested in making a quieter running shoe.

Performance Data:
The percent of public school students selecting answer choice C for question 20 on the March 2006 Grade 5 Reading Achievement was 76%.

Keywords:  text meaning, text-related question, inference
BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                     RP 5.7               
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Short Answer Question:
21. Use information in the selection to describe two different ways that Native Americans used latex.  Write your answer in the Answer Document.

Commentary:
This short-answer question asks students to show reading comprehension skills by answering a question that derives its answer directly from the text. The passage clearly states that the Europeans discovered the Native Americans playing with an unusual ball made of latex. In addition, the Native Americans spread the sticky liquid on their feet to serve as a thin “shoe” that protected their feet from water. Another use the Native Americans had for latex was to make waterproof bottles from it. The answers to this question require straight-forward reading comprehension skills of the student. To receive full credit the student must identify two of the three possible uses of latex.

Scoring Guidelines
	Points
	Student Response

	2
	Response contains two correct answers. 

Examples: 

· They made it into a ball/an unusual ball and played with it.

· They painted it on their feet to make thin shoes/protext their feet from water.

· To make waterproof bottles

	1
	Response contains one correct answer. 

Example: 

(one answer from the list above)

	0
	Response is incorrect.


Performance Data:
The percent of public school students earning each score point for question 21 on the March 2006 Grade 5 Reading Achievement:

	Performance at Each Score Point


  0

  1

  2


10%

20%

69%


Keywords:  text-based questions, comprehension
BACK TO INDEX
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                  AV 5.1               
	Define the meaning of unknown words by using context clues and the author’s use of definition, restatement and example.


Multiple Choice Question:
22. “These were lighter than flat soles because of all the notches in the waffle pattern. Plus they gave better traction, or grip. A new model for sneaker soles hit the pavement.”

What word helps define the word traction?

A. grip

B. sneakers

C. lighter

D. soles
Commentary:
This multiple-choice question asks students to use other words (context clues) in the sentence to help determine the meaning of the word “traction.” Choice A is correct because the word “grip” follows the word “traction” in the sentence preceded by the conjunction “or.” Grip, which

means “a firm hold”, is a synonym for traction in the sentence which explains how the waffle pattern contributed to making the new soles lighter. Choice B is incorrect because the waffle pattern and the soles are only a portion of the whole which would be the sneakers. Choice C is incorrect not only because the meaning doesn’t fit the sentence, but also because the answer calls for a noun, not an adjective. Lighter is an adjective. Choice D is incorrect because the soles are where the waffle pattern is found; once again this word reflects the larger whole rather than an aspect of the whole which is the grip or traction. 

Performance Data:
The percent of public school students selecting answer choice A for question 22 on the March 2006 Grade 5 Reading Achievement was 82%.

Keywords:  vocabulary, context clues, definition
BACK TO INDEX
	Benchmark:     B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI:                                   IT 5.2             
	Identify, distinguish between and explain examples of cause and effect in informational text.


Multiple Choice Question:
23. What was the first thing manufacturers did that made many people begin to buy sneakers?
A. They made waffle soles for traction.
B. They made a simple, low-cost sneaker.
C. They made lightweight shoes that helped people run faster.
D. They made sneakers that kept basketball players from slipping.
Commentary:
This multiple-choice question asks students to demonstrate reading comprehension by identifying a cause and effect relationship. They must identify what the manufacturers of sneakers did to encourage people to buy them. Choice A is incorrect because Bill Bowerman created the idea of the waffle sole in 1971. Sneakers were already a popular choice by then. Choice B is correct because the passage states that in 1916 a rubber company introduced low-cost sneakers which were a huge success. Choice C is incorrect; Bill Bowerman and his use of the waffle sole contributed the lightweight shoes so that people could run faster. Furthermore, sneakers were already a popular choice by the time the lightweight shoes began to be sold. Choice D is incorrect even though it did occur about the same time that the manufacturers started making the popular Keds. The fact that basketball players were kept from slipping so much does not account for why the majority of people started buying sneakers.

Performance Data:  
The percent of public school students selecting answer choice B for question 23 on the March 2006 Grade 5 Reading Achievement was 67%.

Keywords:   cause and effect, comprehension
BACK TO INDEX
Passage:

Lions
By John Bonnett Wexo

Lions have been admired and feared by people for thousands of years. Ancient hunters sometimes found themselves competing with lions when they hunted, and the greater strength and size of the lions usually meant that the cats got the prey and the humans did not. It was also true that the lions could easily kill people. For these reasons, people developed the two main human attitudes about lions that have survived to this day: admiration and fear.

When we look at lions today, we can’t help but admire them. We still feel a thrill because they are so strong and so powerful. We marvel at their great skill in hunting, and the easy grace they display when they move.

At the same time, we may feel unhappy and fearful about the fact that lions kill prey. Lions are predators—animals that hunt other animals. The entire life of a lion is focused on the chasing, catching, and eating of prey. This shocks some people, but we must understand that lions have no choice about the matter. Unlike humans, they have only one way to survive. They must hunt to stay alive. If a lion stops hunting, it will die.

Lions are members of a group called Big Cats. The group includes other big predators—tigers, leopards, and jaguars. But within the group, the only predators that are larger than lions are Siberian tigers. Of course, Siberian tigers and lions never meet each other because they live in different parts of the world—so lions are the biggest and most ferocious predators in the places where they live.

Lions have the biggest eyes of any meat-eating animal or carnivore, and can sometimes see prey that is miles away. Like other cats, they can see very well in the dark—and this helps them to hunt at night. (Many lions do most of their hunting at night.) The ears of a lion also help to find prey. A lion can sometimes hear animals that are more than a mile away.

When they hunt, lions can run fast for short distances to catch prey. But many times, they prefer to sneak up on the animals they are hunting. Very slowly, a lion creeps as close as it can get without being seen. Then, when the prey animal is looking the other way, the lion leaps! A lion can jump as much as 35 feet in one leap.

Family life is very important to lions. Of all the cats in the world, they are the only ones that live together in large family groups. Other cats, like leopards and tigers, live alone most of the time. But lions believe in togetherness. They raise their young together, and they hunt together.

A family of lions is called a pride. There are between 3 and 40 lions in a pride—and a typical pride includes a group of females, their young, and several males. The females are usually sisters or closely related, and they often stay with the same pride all of their lives. But the male lions usually stay with a pride for only a few years.

Getting food isn’t easy. Lions are expert hunters, but they often have to work hard to get their food. Working together makes hunting easier, and this is one major reason why lions live in prides. A group of lions hunting together can catch more food than a single lion hunting alone.

Young lions are well protected from the moment they are born. And they need all the protection they can get. At the moment of their births, they are almost totally helpless. They may weight less than three pounds and can hardly crawl. Sometimes, their eyes don’t even open until they are five or six days old.

The babies are called cubs. Unlike adult lions, cubs have spots on their coats. Many people believe that the spots help to protect the cubs by making it harder for predators to see them.

But the greatest protection for a young lion comes from its mother and the other females in the pride. All of the females work together to protect and feed all of the cubs in the pride. And because the females in a pride can catch more food than a single mother could catch, all of the babies eat better and stay healthier. You might say that a young lion has many mothers to love it and keep it safe.

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                     RP 5.7               
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:
8. Which is the largest cat in the Big Cats family?

A. jaguar

B. Siberian tiger

C. lion

D. leopard

Commentary:
This question asks students to answer a literal question about the Big Cats family. A literal question is one that has an answer directly stated in the selection. Students at the 5th grade level are expected to answer literal, inferential and evaluative questions to demonstrate comprehension. Answer choice A is incorrect. Jaguars are members of the Big Cats family, but are not larger than the other cats. Answer choice B is correct. The selection states that the only predators larger than lions are Siberian tigers. Answer choice C is incorrect. Lions are the largest predators in the areas in which they live; they are not the largest of the Big Cats family. Answer choice D is incorrect. Leopards are a part of the Big Cat family, but they are not the largest.

Performance Data:

The percent of public school students selecting answer choice B for question 8 on the May 2007 Grade 5 Reading Achievement was 84%.

Keywords:  literal questions, comprehension

BACK TO INDEX
	Benchmark:     AV-A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                   AV 5.1              
	Define the meaning of unknown words by using context clues and the author’s use of definition, restatement and example.


Multiple Choice Question:
9. We marvel at their great skill in hunting, and the easy grace they display when they move.

What does marvel mean in the sentence?

A. look with disrespect

B. look with fright

C. look with wonder

D. look with humor

Commentary:
This item asks students to determine the meaning of the word marvel as it is used in this sentence. Students at the 5th grade level are expected to identify the connotations and denotations of new words according to the Grade 5 Ohio Academic Content Standards in English Language Arts. Answer choice A is incorrect. Their skill hunting and the grace of their movement does not cause any feelings of disrespect. Disrespect is not a meaning for marvel. Answer choice B is incorrect. When watching a lion, there is often a sense of awe at their movements and skill, not a sense of fear. Fright is not one of the meanings for marvel. Answer choice C is correct. The word marvel means to fill with awe. Wonder is the correct meaning for marvel as it is used in this sentence. Answer choice D is incorrect. There is no indication of humor in the given sentence.

Performance Data:
The percent of public school students selecting answer choice C for question 9 on the May 2007 Grade 5 Reading Achievement was 72%.

Keywords:  connotation, denotation, word meaning

BACK TO INDEX
	Benchmark:     B
	Apply effective reading comprehension strategies, including summarizing and making predictions and comparisons, using information in text, between text and across subject areas.

	GLI:                              RP 5.4            
	Summarize the information in texts, recognizing that there may be several important ideas rather than just one main idea and identifying details that support each.


Short Answer Question:
10. What is one way that lions are different from other members of the Big Cat 

family?

How does this difference benefit them? 



Commentary:
This question asks students to compare lions to other members of the Big Cats family and determine what differences there are and how that difference helps them. Students at the 5th grade level are expected to make critical comparisons across texts. 

Scoring Guidelines

	Points 
	Student Response 

	2 point 
	Response contains two correct answers. 

Examples of differences: 

· They have the biggest eyes of any meat-eating animal. This helps them see far away. 

· They are bigger then most of the big cats. 

· They are the most ferocious predators where they live. 

· They live together (in a pride)(for most of their lives). 

· Mothers are hunters and caregivers for all cubs. 

How it helps can include: 

· Helps them see far away (big eyes) 

· Protection 

· More food 

· Eat Better 

· Healthier 


	1 point 
	Response contains one correct answer. Example: (one answer from either list above) 

	0 point 
	Response is incorrect. 


Performance Data:
The percent of public school students earning each score point for question 10 on the May 2007 Grade 5 Reading Achievement:

	Percent at Each Score Point

	0
	
	1
	
	2

	25%
	
	32%
	
	43%


Keywords:  comparison, differences, comprehension

BACK TO INDEX
	Benchmark:     A
	Use context clues to determine the meaning of new vocabulary.

	GLI:                             AV 5.2              
	Use context clues to determine the meaning of synonyms, antonyms, homophones, homonyms and homographs.


Multiple Choice Question:
11. There are between 3 and 40 lions in a pride—and a typical pride includes a group of females, their young and several males.

What is a synonym for typical?
A. young

B. common

C. fierce

D. powerful

Commentary:
This question asks student to select a synonym for typical from a given list of words. Students at the 5th grade level are expected to use context clues to determine the meaning of synonyms, antonyms, homophones, homonyms and homographs according to the Grade 5 Ohio Academic Content Standards in English Language Arts. Answer choice A is incorrect. A synonym is a word that has the same meaning as another word. The word young means to be in an early period of life and is not synonymous with typical. Answer choice B is correct. The word common means ordinary or basic which is also the meaning of typical. Answer choice C is incorrect. The word fierce means cruel or violent and is not synonymous with typical. Answer choice D is incorrect. Though lions are powerful, strength and power are not related to the word typical.

Performance Data:

The percent of public school students selecting answer choice B for question 11 on the May 2007 Grade 5 Reading Achievement was 80%.

Keywords:  synonym, word meaning, word relationship

BACK TO INDEX
	Benchmark:     A
	Use context clues to determine the meaning of new vocabulary.

	GLI:                   
	


Multiple Choice Question:
12. Which words in these sentences are homophones?

A typical pride includes a group of females. We marvel at how hard they work to hunt and the easy grace with which they move. Lions are expert hunters, too. But they often have to work hard to get their food. A pride of lions is like a big family.

A. pride and group

B. hard and easy

C. work and hunt

D. too and to

Commentary:
This item asks students to select the set of words that are homophones using the context of the paragraph about prides of lions. Students at the 5th grade level are expected to use context clues to determine the meaning of synonyms, antonyms, homophones, homonyms and homographs. Homophones are two words that sound the same but may not be spelled the same. Answer choice A is incorrect. The words pride and group do share a similar meaning, but they do not sound the same. Answer choice B is incorrect. The words hard and easy are antonyms or opposites, but are not homophones. Answer choice C is incorrect. A lion’s work could be called hunting, but these two words are not homophones. Answer choice D is correct. The words too and to, while different in meaning, are pronounced the same. These words are homophones.

Performance Data:
The percent of public school students selecting answer choice D for question 12 on the May 2007 Grade 5 Reading Achievement was 63%.

Keywords:  homophones, word relationships

BACK TO INDEX
	Benchmark:     F
	Determine the extent to which a summary accurately reflects the main idea, critical details and underlying meaning of original text.

	GLI:               IT 5.4                
	Summarize the main ideas and supporting details.


Extended Response Item:

13. What are four characteristics of lions that make them good hunters? Use details 

from the selection in your answer. 





Commentary:
This question asks students to list four details from the selection that support the main idea that lions are good hunters. Students at the 5th grade level are expected to summarize the main idea and supporting details in an informational text according to the Grade 5 Ohio Academic Content Standards in English Language Arts.

Scoring Guidelines

	Exemplar Response:



	Other Correct Response(s):



	Score

Points 
	Student Response 

	4 point
	Response contains FOUR correct answers. Example: 

• They hunt/live in groups/pack/pride. 

• They have big eyes that help them see things from far away. 

• Their eyes help them see in the dark. 

• They can hear things that are far away. 

• They can jump far. 

• They are strong and powerful. 

• They are fast. 

• They are sneaky/quiet. 

• They take care of their cubs. 

• They are the biggest predator in their area. 


	3 point
	Response contains THREE correct answers. 

	2 point
	Response contains TWO correct answers. 

	1 point
	Response contains ONE correct answer. 

	0 point
	Response is incorrect. 


Performance Data:
The percent of public school students earning each score point for question 13 on the May 2007 Grade 5 Reading Achievement:

	Percent at Each Score Point

	0
	
	1
	
	2
	
	3
	
	4

	6%
	
	9%
	
	16%
	
	27%
	
	42%


Keywords:  main idea, supporting details

BACK TO INDEX
	Benchmark:     F
	Determine the extent to which a summary accurately reflects the main idea, critical details and underlying meaning of original text.

	GLI:               IT 5.4                
	Summarize the main ideas and supporting details.


Multiple Choice Question:
14. According to the selection, what is one important activity that lions do together in a pride?

A. They are the only cats that live together.

B. They run fast for short distances to catch prey.

C. They protect and feed all of the cubs.

D. They sneak up on the animals they are hunting.

Commentary:
This question asks students to select the detail which best supports the main idea of lions working together in a pride. Students at the 5th grade level are expected to summarize the main ideas and supporting details of informational text according to the Grade 5 Ohio Academic Content Standards in English Language Arts. Answer choice A is incorrect. This statement restates the stem of the question. Animals that live together in a group live in a pride. Answer choice B is incorrect. Lions do not hunt while in their pride; they hunt as individual animals. Answer choice C is correct. Lions work together to take care of all of the young cubs in the pride. Answer choice D is incorrect. While this is a statement of fact, it does not reflect something that they do as a pride.

Performance Data:
The percent of public school students selecting answer choice C for question 14 on the May 2007 Grade 5 Reading Achievement was 70%.

Keywords:  supporting detail, main idea, summary 
BACK TO INDEX
	Benchmark:     A
	Use text features and graphics to organize, analyze and draw inferences from content and to gain additional information.

	GLI:                           IT 5.1             
	Use text features, such as chapter titles, headings and subheadings; parts of books, including the index and table of contents and online tools (search engines) to locate information.


Multiple Choice Question:
15. In which book would you most likely find this selection?

A. Wild Carnivores

B. Arctic Animals

C. Your Kitten and You

D. Poems of the Big Cat
Commentary:
This question asks students to use their knowledge of what they have read to select the book title from a given list in which this selection appears. students at the 5th grade level are expected to use text features such as chapter titles, headings and subheadings; parts of books including the index, table of contents and online tools (search engines) to locate information. Answer choice A is correct. The reader of this selection has learned that lions and other big cats are meat eaters, or carnivores. Answer choice B is incorrect. The natural habitat of big cats is not the Arctic; therefore, this would not be the best place to look for information like this. Answer choice C is incorrect. This book title indicates that the book will be about kittens, or house pets. The big cats discussed in the selection are not pets; they are wild animals. Answer choice D is incorrect. While information like that found in this selection can be placed into poetic form, it is not the case here. 

Performance Data:
The percent of public school students selecting answer choice A for question 15 on the May 2007 Grade 5 Reading Achievement was 86%.

Keywords:  titles, text features, locating information
BACK TO INDEX
Passage:

Pass the Chocolate
By Adele Conover

Don’t be surprised if one of these days your mother says, “Eat your chocolate—it’s good for you.” Scientists have discovered that chocolate has substances that are as good for your body as those found in some vitamins. Once you take out the sugar and fat from chocolate products, like candy bars, much of what remains is good for your heart and blood.

Scientists just discovered that some of the substances in chocolate have properties that seem to act like vitamin C. Vitamin C is good for you because it “grabs” onto harmful substances and prevents them from damaging your body’s organs. Some compounds in chocolate may even fight cancer. But no one knows for sure.

Bitter Beginnings
The first chocolate product was developed thousands of years ago and did not have sugar. It began with a few small cacao (kuh KOW) trees growing wild in Central American rain forests. Scientists suspect that Native Americans saw an animal, perhaps a monkey, grab a cacao pod off the trunk of a small tree. The pod was yellow or red and looked like a small football with ridges. The animal probably ripped open the pod’s tough shell and gulped down the white fruit inside. As it ate the fruit, purple-black beans, or seeds, fell onto the forest floor.

Eventually humans figured out how to use the seeds for food. First they ground the seeds into a powder. Next they mixed the powder with hot water. Then they cooled it to make a chocolate drink. The drink was bitter and spiced with vanilla and chili peppers!

The First Chocolate Lovers
Most scientists believe the first people to make this type of chocolate drink were the Olmec. They lived about 3,000 years ago on the coast of Central America.

Around A.D. 600, the ancient Maya raised cacao trees in parts of what are now Mexico and Guatemala. Only men were allowed to enjoy the chocolate drink. They also took it to cure stomachaches and to give them strength to recover from diseases. Some doctors today think chocolate could have helped.

The Aztec came into power in central Mexico in the late 1300s. They called their chocolate drink  xocoatl (shoh KOH aht) and reserved it for men of high rank. Like the Maya, they also took it as medicine. The Aztec considered cacao seeds to be so valuable that they even used them for money.

Chocolate Goes to Spain
In 1519, the Aztec king Moctezuma served Spanish explorer Hernan Cortes some xocoatl. Cortes wrote to the king of Spain that although the beverage tasted bitter, “a cup of this precious drink permits a man to walk a whole day without food.

In 1528, after Cortes conquered Mexico, he sailed to Spain with cacao seeds. He introduced xocoatl to Spain. To sweeten the taste, the Spanish added sugar to their “chocolate.” They kept the recipe a secret, though. It took more than 80 years for the rest of Europe to learn how to make the drink. When other Europeans did catch on, a chocolate craze spread across the continent.

From Junk Food to Health Food?
In the early 1700s, a Dutch chocolate maker invented a machine to press chocolate into a “cake.” These cakes eventually evolved into something like our candy bars.

Today, scientists and chocolate makers are working to make chocolate products that are lower in fat and sugar. If they succeed, you might have to think twice about calling candy bars junk food.

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                           RP 5.7          
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

1. How was the first chocolate product different from the chocolate products people eat today?
A. It contained healthy substances.

B. It was not sweetened with sugar.

C. It came from a small pod with ridges.

D. It was pressed into a flat cake.

Commentary:

This multiple choice question asks students to select the best definition from a dictionary. To do this, they use the context clues (nearby words and sentences) in a selection and connect that information with what they find in a dictionary. Answer A is incorrect. Chocolate contains some substances that are good for your body, this fact has not changed. Answer B is correct. Originally chocolate was eaten raw without the addition of any ingredients. It was later in history that sugar was added to “sweeten” the bitter taste. Answer C is incorrect. The information, while true to the selection, does not state a difference about changes in chocolate from the past to the present.

Answer D is incorrect. Molding chocolate into a shape is different from chocolate forms of the past, but does not explain the difference in how it was eaten.
Performance Data: 

The percent of public schools students selecting answer choice C for question 1 on the May 2008 Grade 5 Reading Achievement Test was 69%.

Keywords:  literal questions, comprehension

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                           RP 5.7          
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

2. How did the ancient Maya use chocolate?
A. to cure stomachaches

B. to sweeten things they ate

C. to pay for things

D. to replace a day’s worth of food

Commentary:

Students need to pay close attention to important details when they read a selection. This way, they can keep track of information to inform their understanding about the passage. Answer A is correct.  The selection stated that chocolate was used as a cure for stomach aches. Answer B is incorrect. Ancient Maya did not sweeten the food they ate. Answer C is incorrect. The Aztec, not the Ancient Maya, used the cacao as money. Answer D is incorrect. Chocolate was used as a food replacement, by a Spanish Explorer, not the ancient Maya people.

Performance Data: 

The percent of public schools students selecting answer choice A for question 2 on the May 2008 Grade 5 Reading Achievement Test was 88%.

Keywords:  comprehension, literal questions

BACK TO INDEX
	Benchmark:     B
	Apply effective reading comprehension strategies, including summarizing and making predictions, and comparisons using information in text, between text and across subject areas.

	GLI:                           RP 5.4       
	Summarize the information in texts, recognizing that there may be several important ideas rather than just one main idea and identifying details that support each.


Extended Response Question 

3. Predict how Kee-sup will react the next time Young-sup asks Kee-sup to do something for him.  Support your answer with a detail from the selection. Write your answer in the Answer Document.
Commentary:

This constructed response question asks students to use information in the text to make predictions (educated guesses) about the ideas in the selection.

Scoring Guidelines

	Points
	Student Response

	2 point text 
	Points awarded for a complete and accurate statement. 

Response includes a reasonable, logical and positive/negative prediction with an appropriate supporting detail. 

Prediction:
Positive:


1. Kee-sup will say yes/react the same way.

2. Kee-sup will help his brother.

3. Kee-sup will show Young-sup how to do whatever it is Young-sup wants.

4. Kee-sup will tell Young-sup that he has to do part of the work.

5. Kee-sup will help because he gave his brother directions/instructions.

Negative:


6. Kee-sup will say no the next time Young-sup asks him to do something but then he will/will say that he will help him but not do it for him.

7. Kee-sup will say no/will not do it for him/react the same way.

8. Kee-sup will be angry/frustrated/will get mad.


Details:


1. “I won’t make on for you but I will help you.”

2. “'No,' he said finally...”/Because Kee-sup said no earlier in the selection.

3. “Kee-sup walked on, looking down at the ground, and did not answer for a few moments.”/Kee-sup did not answer him but walked on.

4. Any correct paraphrase of a detail.


Unacceptable predictions:


9. I predict he is going to make another kite for him. (Does not answer the prompt.)

10. Kee-sup will ask Young-sup what he wants.

11. Kee-sup will help but he won't help.

	1 point text
	Points awarded for a partially complete or somewhat inaccurate statement. 

Response includes a reasonable prediction but an inaccurate, vague or missing supporting detail. 

Note: No point will be given for a correct detail if the prediction on which it is based is incorrect or missing. 

1 point sample answer: 

	0 point text
	No point awarded if a statement is non-existent or completely inaccurate. 

Response does not contain a reasonable prediction, is incomplete, or blank.

0 point sample answer:




Performance Data: 

The percent of public school students at each score point for question 3 on the May 2008 Grade 5 Reading Achievement Test was

	Percent at Each Score Point


     0
       1
    2


9%

       35%

  54%


Keywords:  reading comprehension strategies
BACK TO INDEX
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:            AV 5.2             
	Use context clues to determine the meaning of synonyms, antonyms, homophones, homonyms and homographs.


Multiple Choice Question:

4. In the early 1700s, a Dutch chocolate maker invented a machine to press chocolate into a “cake.” These cakes eventually evolved into something like our candy bars.

Which word is a synonym for evolved?
A. baked

B. spread

C. changed

D. pressed

Commentary:

Students need to recognize that each idea or thing can have multiple words to describe the meaning. Answer A is incorrect. Baked denotes the drying out of a food or of being parched not the meaning of evolved, which shows a progression of change in something. Answer B is incorrect. Spread is to broaden or multiply, not necessarily showing a marked change in something or someone. Answer C is correct. Changed has a meaning similar to evolved, making it a synonym. Answer D is incorrect. Pressed is to force down or compress and does not show growth or progression.

Performance Data: 

The percent of public schools students selecting answer choice C for question 4 on the May 2008 Grade 5 Reading Achievement Test was 86%. 

Keywords:  vocabulary, word meaning, context clues

BACK TO INDEX
	Benchmark:     A
	Use text features and graphics to organize, analyze and draw inferences from content and to gain additional information.

	GLI:                           IT 5.1             
	Use text features, such as chapter titles, headings and subheadings; parts of books, including the index and table of contents and online tools (search engines) to locate information.


Multiple Choice Question:

5. Under what subheading do you find information about a cacao pod?

A. Bitter Beginnings

B. The First Chocolate Lovers

C. Chocolate Goes to Spain

D. From Junk Food to Health Food?

Commentary:

Students at the fifth grade level are expected to use text features to locate information according to the Grade 5 Academic Content Standards in English Language Arts. Answer choice (A) is correct. Under the subheading, Bitter Beginnings, students should be able locate the information that tells about the cacao pod, where it comes from, and its bitter taste. Answer choice (B) is incorrect. The First Chocolate Lovers is not about the origins of chocolate from the cacao pod. .Answer choice (C) is incorrect. While this response does mention the bitter taste of chocolate, it’s point is to explain the spread of chocolate. Answer choice (D) is incorrect. The cacao pod has both healthy and junk food uses. Students who chose this response may not have read the selection closely.

Performance Data: 

The percent of public schools students selecting answer choice (A) for question 5 on the May 2008 Grade 5 Reading Achievement Test was 89%.

Keywords:  text features, subheadings

BACK TO INDEX
	Benchmark:     F
	Use multiple resources to enhance comprehension of vocabulary.

	Benchmark:     AV-A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:            AV 5.2,               AV 5.8             
	AV 5.2:      Use context clues to determine the meaning of synonyms, antonyms, homophones, homonyms and homographs.

AV 5.8:      Determine the meanings and pronunciations of unknown words by using dictionaries, thesauruses, glossaries, technology and textual features, such as definitional footnotes or sidebars.


Multiple Choice Question:

6. “They called their chocolate drink xocoatl (shoh KOH aht) and reserved it for men of high rank. Like the Maya, they also took it as medicine. The Aztec considered cacao seeds to be so valuable that they even used them for money.”

Which definition of rank is used in the sentences above?

rank / r†ngk / n. 1) a row, line or series. 2) an important position or role in society. 3) a group of similar people. 4) a line of soldiers standing side by side.

A. definition 1

B. definition 2

C. definition 3

D. definition 4

Commentary:

Students need to know how to select the best definition from a word bank or dictionary. To do this, they use the context clues of nearby words and sentences in a selection and connect that information with what they find in a dictionary. Answer A is incorrect. The use of rank here refers to a positioning of an object or thing. Answer B is correct. The context clues of the selection support the use of rank as a reference to an important role or position someone holds. Answer C is incorrect. This definition is similar in meaning, making it a synonym, but not the correct use of rank for the selection. Answer D is incorrect. Rank defined as a positioning of particular object or person in a particular place is not the intended meaning of the word in this selection.

Performance Data: 

The percent of public schools students selecting answer choice B for question 6 on the May 2008 Grade 5 Reading Achievement Test was 76%.

Keywords:  vocabulary, word meaning, comprehension

BACK TO INDEX
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